

## **ABC Bid Data**

MANCHESTER-HOOKSETT

43071B

X-A005(498)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN: SCOPE OF WORK: COMPLETION DATE: LOCATION:	MANCHESTER-HOOKSETT 43071B X-A005(498) August 31, 2023, 2:00 Resurfacing NB I-93 from I-293 to Exit 7. December 01, 2023 Hillsborough, District 5, Merrimack	Awarded To: Amount: Award Date:	BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826 \$1,347,563.25	WILLIAM.J.OLDENBURG	
		Summary of Bidders			
Contractor				Bid Amount	Rank
BROX INDUSTRIES, II 1471 METHUEN ST	NC. REET, DRACUT MA 01826			\$1,347,563.25	A
CONTINENTAL PAVIN 1 CONTINENTAL D	G INC RIVE, LONDONDERRY NH 03053			\$1,367,333.70	В
PIKE INDUSTRIES, IN 3 EASTGATE PARI	C. K ROAD, BELMONT NH 03220			\$1,685,301.25	С





## MANCHESTER-HOOKSETT

43071B

X-A005(498)

				PS&E		BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

403.11841	HBP-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 1	TON	6,475.00	\$110.00	\$712,250.00	\$117.00	\$757,575.00	\$120.00	\$777,000.00
403.16	PAVEMENT JOINT ADHESIVE	LF	50,450.00	\$0.30	\$15,135.00	\$0.50	\$25,225.00	\$0.35	\$17,657.50
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,475.00	\$2.75	\$17,806.25	\$4.00	\$25,900.00	\$2.50	\$16,187.50
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,840.00	\$6.00	\$17,040.00	\$8.00	\$22,720.00	\$5.00	\$14,200.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	56,795.00	\$2.75	\$156,186.25	\$2.75	\$156,186.25	\$3.50	\$198,782.50
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	42,000.00	\$1.00	\$42,000.00	\$1.00	\$42,000.00	\$1.00	\$42,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$110,000.00	\$110,000.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,800.00	\$11,200.00	\$1,500.00	\$6,000.00	\$5,000.00	\$20,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$3,000.00	\$12,000.00	\$1,400.00	\$5,600.00	\$2,500.00	\$10,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$8,500.00	\$8,500.00	\$6,250.00	\$6,250.00	\$7,500.00	\$7,500.00
632.7106	RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	24,646.00	\$2.00	\$49,292.00	\$2.00	\$49,292.00	\$2.40	\$59,150.40
632.7112	RETROREFLECTIVE POLYUREA PAVEMENT MARKING 12" LINE	LF	5,051.00	\$4.00	\$20,204.00	\$4.00	\$20,204.00	\$4.80	\$24,244.80
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	35,611.00	\$1.00	\$35,611.00	\$1.00	\$35,611.00	\$1.00	\$35,611.00
			Totals:		\$1,372,224.50		\$1,347,563.25		\$1,367,333.70
			Alt. Totals:						
			Totals:		\$1,372,224.50		\$1,347,563.25	\$1,367,333.70	





## MANCHESTER-HOOKSETT

43071B

X-A005(498)

ľ					1					
					1	°S&E	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD			
							BELMONT, NH 03220			
	Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

403.11841	HBP-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 1	TON	6,475.00	\$110.00	\$712,250.00	\$138.00	\$893,550.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	50,450.00	\$0.30	\$15,135.00	\$1.10	\$55,495.00	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,475.00	\$2.75	\$17,806.25	\$5.00	\$32,375.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,840.00	\$6.00	\$17,040.00	\$6.75	\$19,170.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	56,795.00	\$2.75	\$156,186.25	\$4.00	\$227,180.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	42,000.00	\$1.00	\$42,000.00	\$1.00	\$42,000.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$110,000.00	\$110,000.00	\$100,000.00	\$100,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,800.00	\$11,200.00	\$1,000.00	\$4,000.00	
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$3,000.00	\$12,000.00	\$1,000.00	\$4,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$8,500.00	\$8,500.00	\$10,000.00	\$10,000.00	
632.7106	RETROREFLECTIVE POLYUREA PAVEMENT MARKING, 6" LINE	LF	24,646.00	\$2.00	\$49,292.00	\$2.25	\$55,453.50	
632.7112	RETROREFLECTIVE POLYUREA PAVEMENT MARKING 12" LINE	LF	5,051.00	\$4.00	\$20,204.00	\$4.25	\$21,466.75	
692.	MOBILIZATION	U	1.00	\$120,000.00	\$120,000.00	\$140,000.00	\$140,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	35,611.00	\$1.00	\$35,611.00	\$1.00	\$35,611.00	
	Totals:		\$1,372,224.50		i0 \$1,685,301.2			
			Alt. Totals:					
			Totals:		\$1,372,224.50		\$1,685,301.25	



MANCHESTER-HOOKSETT

43071B

X-A005(498)

				A-Bidder		PS8	Е	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
		-	, ,					
403.11841	HBP-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 1	TON	6,475.00	\$117.00	\$757,575.00	\$110.00	\$712,250.00	\$45,325.00
403.16	PAVEMENT JOINT ADHESIVE	LF	50,450.00	\$0.50	\$25,225.00	\$0.30	\$15,135.00	\$10,090.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	6,475.00	\$4.00	\$25,900.00	\$2.75	\$17,806.25	\$8,093.75
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,840.00	\$8.00	\$22,720.00	\$6.00	\$17,040.00	\$5,680.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	56,795.00	\$2.75	\$156,186.25	\$2.75	\$156,186.25	\$0.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	42,000.00	\$1.00	\$42,000.00	\$1.00	\$42,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$75,000.00	\$75,000.00	\$110,000.00	\$110,000.00	(\$35,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$1,500.00	\$6,000.00	\$2,800.00	\$11,200.00	(\$5,200.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$1,400.00	\$5,600.00	\$3,000.00	\$12,000.00	(\$6,400.00)
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	1.00	\$6,250.00	\$6,250.00	\$8,500.00	\$8,500.00	(\$2,250.00)
632.7106	RETROREFLECTIVE POLYUREA PAVEMENT MARKING,	LF	24,646.00	\$2.00	\$49,292.00	\$2.00	\$49,292.00	\$0.00

6" LINE

MARKING 12" LINE

MOBILIZATION

FUEL ADJUSTMENT

632.7112

692.

1010.15

RETROREFLECTIVE POLYUREA PAVEMENT

LF

U

\$

5,051.00

20,000.00

1.00

\$4.00

\$1.00

\$75,000.00

\$20,204.00

\$75,000.00

\$20,000.00

\$4.00

\$1.00

\$120,000.00

\$20,204.00

\$120,000.00

\$20,000.00

(\$45,000.00)

\$0.00

\$0.00

## **PS&E** Comparison



MANCHESTER-HOOKSETT

\$1,372,224.50

43071B

X-A005(498)

(\$24,661.25)

		A-Bide	der	PS8				
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	35,611.00	\$1.00	\$35,611.00	\$1.00	\$35,611.00	\$0.00

\$1,347,563.25

Total:

Tuesday, September 5, 2023